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*£10,000 AIR MOLECULES IMAGE BORROWED FROM RANDALL MUNROE’S GREAT BOOK WHAT IF?

PRESENT CO2 LEVEL IS ABOUT 400 PARTS PER MILLION (PPM) AIR MOLECULES.
THEN USING ONLY 4TH GRADE ARITHMETIC WE SEE THAT 400 PPM EQUALS
40 CO2 MOLECULES PER 100,000 AIR MOLECULES WHICH EQUALS

4 CO2 MOLECULES PER 10,000 AIR MOLECULES.

HOW CAN THIS ITSY-BITSY NUMBER OF CO2 MOLECULES CONTROL THE OTHER 9,9967?
ANY CHILD WOULD KNOW WHO THE WINNER IS. THE WORLD IS FULL OF CLIMATE
SCIENTISTS BUT SO FAR NO ONE CAN EXPLAIN HOW 4 CAN WIN AGAINST 10,000.

WE SOON WILL UNDERSTAND THAT THE WHOLE CO2 AND GLOBAL WARMING NONSENSE
IS NOT SCIENCE, BUT NOTHING BUT POLITICAL AND MEDIA BS. INSTEAD OF SPENDING
$200-300 TRILLION ON CARBON CAPTURE, WE CAN SAFELY GO BACKTO ENERGY
INDEPENDENCE, AND A PROSPEROUS WORLD ECONOMY.

SO CARBON DIOXIDE (€O,) IS NOT BAD FOR Usl!



